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BEA Calculation Policy

This policy has been adapted from the White Rose Maths Hub Calculation Policy. The policy is
broken into methods and skills. For each skill, the policy identifies the appropriate methods to
use. It is a working document and will be revised and amended as necessary.




Methods - Addition and Subtraction

Method Ways to use Examples
! C\/\(f\ \ 7
Part + Part = whole ‘/ % B
N4 O/ \3
Whole - Part = Part G4t 7 3_4
7=3+4 7-4=3
FElfe inels Partition numbers into tens and ones. p
Models 15) (26)
Can be used to partition a number into two or (@) (0) °
more parts.
Concrete m&i 0000000
7 7
Concrete: cubes and counters. Discrete | [ [ [ [[[] [I1[)VV]
4 3 ? 3
7
Discrete: a good starting point for smaller numbers Combination lll
Bar Model (each box represents one whole). , :
(single) - S—
Combination: counting on from the larger number. Continvous | 4 | 3 [[ 2 |5
477 53
Continuous: each rectangle represents a number, L | | .
question mark = value not found. 283 | 194 | 39 [14]




Method Ways to use Examples
Discrete
[T [T T] I}10 3210
[T T] B
Useful to compare quantities.
. LTI T[] x4
Bar Model | Smaller numbers can be represented as a discrete I
(multiple) bar model. Continsous
Continuous bar models more effective for larger | 7 . 2394
numbers. [+, - w0 Fo
7-3=4 2,394 — 1,014 = 1,380
Useful for subitise numbers, aggregation,
partitioning and number bonds.
Numicon Part + Part = Whole

If more confident with Numicon, pupils can
subitise the total.




Method Ways to use Examples
Use for addition and subtraction of 1-digit
(smaller) numbers. T N -3+
Can use different colours to represent numbers. - - 34
Cliloiz Subtraction: Start with the whole and remove
number of cubes that need subtracting. H
Subtraction as difference: Both numbers are made
and lined up to find the difference.
4+3=7 4isapart.
OO®O®® O 3+4=7 3is apart.
. OO 7=3=4  7isthe whole.
Help understand the different structures of 7-4=3
addition and subtraction.
Ten Frames | Introduction to aggregation and partitioning. iiili “i“ ole s
(within 10) 000
Use ten frames to look at augmentation and take- 4+3=7
away. First Then Now
00000 0000 | 0000 |
iu Sl iR
o0

7—3=4




Method Ways to use Examples

Adding two single digits: Pupils can make each 000
number on separate ten frames before moving part 0000
of one number to make 10. sieiele:

oois 475

Ol l0le@)

O
(R
cn/

@)

o0
o0 @@
O|[®®
o[ |®
®

Subtracting a one-digit number from a two-digit
number: Firstly, make the larger number on 2 ten

e

4ié.

Ten Frames | frames then remove the smaller number. 9@ \\1\1} 2
(within 20) ‘
Adding three single-digit numbers: Pupils make -
each number on 3 separate 10 frames before L R—
considering which order to add them. Qo[l00l QOIS N/
@) @)
. . . olo[o 10
Supports with making number bonds and making
links to effective mental methods.
5+3=8
Support understanding of augmentation and
ppor’ g oraus T2z 4 1@lc ] @[5 w]
reduction.
Adding = counting on to find the total. 10-4=0
Number Tracks | Subtracting = counting back to find their answer. [1]2]3]4]5]®)] % RN
Use of counters to support. 8+7=15
YYYYYY)
LGl [ @ [oln[e ] [@]<[~x[=]=]

Works well alongside ten frames.




Method

Ways to use

Examples

Start with counting forward and back in ones, skill

links to humber tracks. 8t7-15
Number Lines 2] 5 42 +5
(labelled) Develop further by dd/subtracting numbers by ] mm
jumping to the nearest 10 and then jumping to find .
the total. VA A
35+37=72
+5 + 30 +2
C Y N
Developing from labelled number lines, pupils can 35 40 oo
add by jumping to the nearest 10 and then adding 35 +37=72
the rest of the number as a whole or by adding the s 30
: tens and ones separately. Same process for m
Number Lines ) .
counting backwards. 35 40 72
(blank)
72 —-35=37
Find the difference between two numbers, starting
at the smaller number then add the parts counted 5 +50 <
on to get answer. 35 20 .




Method

Ways to use

Examples

Base Ten
(addition)

Support with column addition. Write out
calculations alongside using base ten to see the
clear links.

First add without an exchange before moving to
exchanging. When adding, start with the smallest
place value column.

Place value counters better for larger numbers.
Can be used for decimals by a one hundred square
representing one.

Tens

G

K

Hundreds

Tens Ones

|~

265
+ 164

[

429

-/

Base Ten
(subtraction)

Support with column subtraction. Write out
calculations alongside using base ten to see the
clear links.

First subtract without an exchange before moving
to exchanging.

Pupils should make the minuend using base ten,
then subtract the subtrahend.

When subtracting, start with the smallest place
value column.

Place value counters better for larger numbers.

Ones

s - »

Ll

51

65
—28
37

Hundreds

Tens Ones

435

--\

i |

It
[~ Httt

— 273
262




Method Ways to use Examples
Support with column addition. Write out T
calculations alongside using place value counters sna il - 0056) +§§;‘
to see clear links. o0 Jodo Joood | o1
°‘< 1( 11
Ale Vallie First add without an exchange before moving to
e exchanging. When adding, start with the smallest e TR i
(addition) | ! 000 (7> /880 | 36
place value column. @O @0 | +241
00 ° QL0 ‘ o 6.06
Non-value place value counters can be used with a o ’
place value chart.
. . . Hundreds Tens Ones 4 b
Support with column subtraction. Write out 00009 00000 |00 63
calculations alongside using base ten to see the ® \,:::zz — 207
clear links. 445
First subtract without an exchange before moving
Place Value hanoi Is sh ke th .
Counters to exchanging. Pupils should make the minuend —
1 1
(subtraction) using place value counters, then subtract the oz20/000 779000 3;4357
subtrahend. When subtracting, start with the
Looaa —- 27855
smallest place value column. 2SOD
22 1622

Non-value place value counters can be used with a
place value chart.




Methods - Multiplication and Division

Method

Ways to use

Examples

Bar Model

Use single bar model to represent
multiplication as repeated addition. Can
use counters, cubes or dots within the bar
model to support calculation before
moving on to placing digits.

Division represented by showing the total
of the bar model and dividing the bar into
ewqual groups.

Scaling questions use more than one vbar
model to represent the type of problem.
The multiple bar model allows you to
compare the groups.

0
@0
@0
L
® e

5x5=25

® e
o0

3x7=21
77X 3=21

Tl 21+7=3

Boys

Girls




Method

Ways to use

Examples

Numicon

Multiplication as repeated addition:

Build multiplications in row using the
Numicon. When adding odd numbers,
pupils encouraged to interlock the shapes
so there are no gaps in each row.

Use to help discover patterns e.g. odd x
odd = even, odd x even = odd, even x even
= even

Division: Pupils make the number they are
dividing and then place the Numicon they
are dividing by over the top of the number
to find how many groups there are
altogether.

5x4=20
4x5=20

5x4=20
4x5=20

18+-3=6

Number Tracks

Used to support counting in multiples,
forwards and backwards. Moving counters/
cubes along the number track can support
keeping track on counting.

When multiplying, pupils place counters on
0 to start and then count to find the
product of the numbers.

When dividing, pupils place their counter
on the number they are dividing and count
in jumps of the number until they reach 0.
Pupils record how many jumps they have
made to find the answer of the division.

YN N N N N
O] [-161]- 61| 61°] 6/ - 6/ 01

‘@‘T 2‘3‘4 5|@‘7|8 9‘10‘11 @‘13‘14 15‘15‘]7‘|19‘2D‘

6x3=18
3x6=18

Y Y Y W W N\
‘@‘ ] @‘ ‘ @l? 8‘@‘10‘11@|13‘M‘@‘1& 1?\‘19‘20‘

18+-3=6

10




Method

Ways to use

Examples

Number Lines
(labelled)

Support counting multiples, forwards and
backwards and calculating single digit
multiplications.

Multiplying: Pupils start at 0 then count to
find the product of the numbers.

Dividing: Start at the number they are
dividing and then count back in jumps of
the number by until they reach 0. Record
how many jumps they made to find the
answer of the division.

Useful with small numbers.

———
01234567389 WNURBHBEXY B D

| I T T TR T | TR T |
11 11
012 3 45 6 7 8 9 10NMTRRB™"BWVTRBY

4x5=20
5x4=20

0 1 2 3 %5 6 7 8 9 WNRBHB KT EBIY W0

20+4=5

Number Lines
(blank)

Used to represent scaling as multiplication
and division.

Blank number lines with intervals can
support with scaling accurately. Can label
intervals with multiples to calculate
scaling problems.

A red car travels 3 miles.
A blue car 4 times further.
How far does the blue car travel?

X 4

N

0 3 12

A blue car travels 12 miles.
A red car 4 times less.
How far does the red car travel?

11




Method Ways to use Examples
Support with column multiplication. Hondred | TI Ones
T 24
Pupils to write out their calculation | | J ' J X 3
Base Ten alongside the equipment so they can see | |% " 2
(multiplication) | how the concrete and written | 1
representations match.
Suitable for smaller numbers.
Support with division. | I I | I I
68 +2=234
When numbers become larger, can be Ve Ve
effective to move pupils from representing
numbers as ones towards representing
Base Ten them as tens and ones to divide. ’I/““‘*-
(diViSion) Tens Ones 72+3=24

When sharing, pupils start with the larger
place value and work from left to right. If
there are any left in a column, they
exchange e.g. one ten for ten ones.

12




Method Ways to use Examples
0660000
Support with column multiplication. 000/0000 ot
00{0000 X 5
000{0000 170
o o o o 0@@@ 12
Place Value Pupils to write out their calculation o lad
alongside the equipment so they can see

Counters ) 44
AT how the concrete and written method x 32
(multiplication) 5
match. 80
120
+ 1200

Suitable for smaller numbers.

1408

Place Value
Counters
(division)

Support with understanding division.

When working with smaller numbers, pupils
use place value counters to share between
groups. Start by sharing the larger place
value column and work from left to right.

Support understanding of short division by
grouping the counters rather than sharing
them.

x)(/ 4‘”/ \" 2

13




Skills

Times Tables

X2 (stage 2) X5 (stage 2)

mm] EEREETEEE TR 3:33:3 T PR TETITT T
\A A A

1

n|12|13 |4 (@|6]|17]e]0|C
21| 22| 23] 24 |@D| 26 | 27| 28| 20 |@D
31[32]33] 34 @] 36 | 37| 38| 30 |@
41| 42]a3] 44 |@)] 46| 47 48[ 40 |&

| |
0 1 2 3 ¥ 5 67 8 9 10N RB™KBITB®W

[
L L | e o
01 2 3 &% 5 6 7 8 9 0NMRBMHB BT RB®20

X10 (stage 2) X3 (stage 3)

& 0 20 30 40 30 60 70 30 50700 [_l [_‘ [_‘ |_l

m 13| 14 16 | 17 (@) 19 | 20
JDJDL 1[2]s]a]s]e]7]e]e (@] 22 | 23 |G| 25 | 26 |@D)| 28 | 29 |G
‘! ” ‘ I! n|2]s]ufs|e|7]e]0 31|52 |@)] 34 | 25 |G 57| 58| 39 | a0

21|22|23|24(25(26|27 |28 |29 41 (42 | 43 | 44 | 45 | 46 | 47 | 48 [ 49 | 50

DDFDD 31/32|33]34)|35(36| 37|38 39
CJC2C T

00eLeeEEe%

4
[ N ] 41| 42( 43|44 |4546| 47 48|49
51|52 |53 |54 |55|56 57|58 |59
61|62 | 63|64 |65|66|67|68|69
Nn|72|73|74|75| 76|77 |78 |79
81|82|83|84|85(86|87|88|89
| | | | | e
91]92|93(94|95|96|97 (98|99 I I I I I 7~




X4 (stage 3)

X8 (stage 3)

4|s|e|7|@ 9|0
eosece RRRRREER e
...... 21 | 22|25 |@D)| 25|26 | 27| 28|29 | 30
1213 slel 7@ o0 31 || 33 | 34 | 35 | 36| 37 | 38 | 30 (@)
"o ? - 1?: v ® ...... 41| 42| 43|44 | 45 | 45| 47 |@D| 49 [ 50
22 230 25 | 20| 2|0 ] 3 000000 e 535.455@ EIEIEAE
2 |@)| 5|34 (@] 5 | | (@ 8 6 24 22 61 |62 |63 €| 65 | 66|67 |68 |69 |70
41|42 | 43 a5 | a6 | 47 [(a9| 49 | 50 71 |@)| 73|74 |75 |76 | 77 | 78 | 70 (&)
© © 81|82 (83|84 (8586|8788 89|00
4 8 12 16 20 4 4 ” 5 8 16 24 32 40 91|92 |93 (9495|0697 28|08 100
48 56 64 72 80
24 28 32 36 40
44 48 52 56 60
T T NN TN N N NN N SN MR N MR M.
| \ | | I | | | | | | | | N I I I I I I I T I T ! I I e
Tt 1 1T T 1111 7 O 8 16 24 32 4O 48 56 64 72 80 88 96
0O &k 8 12 16 20 24 28 32 36 4O Lk L8
21|22 |23|@D 25| 26| 27| 28] 20 /G0 21 (22|23 |24 25|26 |@)| 28 [ 29|30
EEEEEE et
@) s3] 44|45 46 | 47 | @) 49|50 41|42 | 43| 44 |@)] 46 | 47 | 48 | 45 | 50
s1 (52|53 (69| 55| 56| 57| 58| =0 (&)
9 18 27 36 45 51|52 |53 |Gd)| 65 | 56 | 57 | 58| 50 | 60
61|62 |63|64|65|66|67|68|69 |70
6 12 18 24 30 61|62 |G| 64 |65 | 66| 67 |68 |69 |70
71| 72|75 |74 |75 |76 |77 | 78| 70 |80 54 63 72 81 a0
36 42 48 54 60 a1 |32 83 | a4 | a5 | 6 | &7 | 8 | 29 | 90 7 |@)| 75|74 | 75|76 | 77 | 78 | 79| 0
66 72 78 84 90 91|92 |03|94 |05 | 06|07 98| ea 100 82|83 |84 |85 |86 |87 |8a |80 (@)
9192|9304 |05 ]98] 9708 [@]i00
AN TR NN TN SN T NN RO NN NN N B
! I T I T I I T I T I I T e
O 6 12 18 24 30 36 42 48 54 60 66 72

15




X7 (stage 4)

X11 (stage 4)

1]2(3]|a|s5|6[@| 8|90 1 |22 33| 44 | 55 | 66 1[2]s]a]s]s]7]a]o]mw
m|2 |13 151617181920 27 | 88 | 99 | 110 | 121 | 132 ®12 15|14 ]15)16 |17 (181920
@ |22 23] 24| 25| 26| 27 |@®)| 29| 30 21 (@[ 23 |24 |25 |26 |27 [ 28 [ 20 [ 20
51|32 [@)| 34|35 |36 | 37 |38 | 39| a0
31|32 |33 |34 |@9)| 36 | 37 | 38| 39| 40 Oo Oo Oo
a1 |42 | a3 |G2)| 45 | 46 | 47 | a8 | 49 |50
41 @) 43| 44| 45| 46 | 47 | 48 [@)] 50 Oo 51|52 |53 |54 |€9)] 55 | 57 | 58|59 | e0
7 14 21 28 25 51|52 |53 |54 55@ 57 |58 |59 |60 Oo 61|62 |63 |64 |65 D] 67 68 69| 70
61|62 [€3)] 64 | 65| 66 | 67 | 68 | 69 (2D Oo 7 |72| 78| 7|75 |7 @] 78 |70 |80
42 49 56 63 70 . S
7 (72|73 |74 | 75| 76 [@)] 78 | 79 | 80 1 (82|83 |84 |85 |86 |87 (89|89 |90
919203040506 07|08 @100
81 82 83@85 86 87 |88 |89 |90
@) 02| 03| 0405|9607 @] 99 100 - e
a a [} ] [}
" | | a
| ] | | ] | | | | | | | | ~ L a [ ]
| | | | | | | | | | I I I 7 ]
O 7 T 21 28 35 42 49 56 63 70 77 84 S
O M 22 33 44 55 66 77 83 99 1O 121 132
1]2|3fa]s]|e|7|e|9]w
12 | 24 | 36 | 48 | 60 1|13 {1415 |16 |17 |1e]19]20
2 a4 | 96 108 | 120 21|22 |23 |@| 25 | 26 | 27 | 28 | 29| 30
31|32 (33|34 |35 ()] 37 38| 39| 40
132 | 144 41|42 |43 | 44 |45 | 46 | 47 |(3D)| 40 | 50

56 | 57| 58 | 59 (60

66 | 67 | 68 |69 | 70

76| 77|78 | 79|80

86 | B7 | 88 | 89 | 90

97 | 98 | 99 [100

] ] | |

I I
T — 1 1t 1T T T T 1
12 2% 36 48 60 72 84% 96 108 120

|

|
I
Tl
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Multiplication

Solve 1-step problems using multiplication -
sharing (stage 1/2)

Multiply 2-digit numbers by 1-digit numbers

One bag holds 5 apples.
How many apples do 4 bags hold?
hhh O O O O O O O O
DDDDD O Q, O ©) O Q O Q,
DDDDD

00000 5x4=20

(stage 3/4)

Tweun
| oy | ——

. | 34x5=170
H|T o g 0;‘00
3 (4 0000
0000
2 0000
ill7 | o 000000
> e a0’/

.:::: 5+45x+55+25(>) 20
Multiply 2-digit numbers by 1-digit numbers
(stage 3/4)

Multiply 4-digit numbers by 1-digit numbers
(stage 5)

e [ - [

.. % ..... 1 H|T|o

THENS aoE

.. % el 9 80

R = | ) T2

B (245x4=980 1826 x3=5478 |
I-Jeelel® WEIEIE
gg 8808 1 8 2 6
23 13838 T
© 00-

2 1

17




Multiply 2-digit numbers by 2-digit numbers | Multiply 3-digit numbers by 2-digit numbers
(stage 5) (stage 5)

, 00029 © © 0000000 . .-
E 000 |00 00O 0000000 2 |-
000 00 OO O0OOCOOO ~ |5
E 000 00 00 ® 0000000 46 8
000 000000 1:13 : ;’
E Tzt 000 000000
o 310 62[230 620 z ; x 200 30 4
[ 22 x 31=682 J 6§82 [234X32=?,488 ] 2 400 | 60 8

Multiply 4-digit numbers by 2-digit numbers
(stage 5)

TTh Th H T 0]

2,739 x 28 = 76,692 |




Division

Solve 1-step problems using multiplication -

sharing (stage 1/2)

Solve 1-step problems using division -
grouping (stage 1/2)

20

OV NN :
oo [e ][]

There are 20 apples altogether.
They are shared equally between 5 bags.
How many apples are in each bag?

$258s OCOOE

ge BEBHREH

They are put in bags of 5.
How many bags are there?

saese

® 00000
o000 ;. 5,

@
sisisig

There are 20 apples altogether. ‘

Divide 2-digits by 1-digit - sharing with no

exchange (stage 1/2)

Divide 2-digits by 1-digit - sharing with

exchange (stage 3/4)

Q0000
0

00000
© | 000

© | 000
03 o 000
10+3=13 © 000

19




Divide 2-digits by 1-digit - sharing with
Lgmﬂaiq_c_lers (stage 3/4)

Divide 2-digits by 1-digit - grouping (stage
4/5)

53+-4=13n

00 0000000
S © 00000
© 000
o | 000
° 000
5 000

o

Divide 3-digits by 1-digit - sharing (stage 4)

Divide 3-digits by 1-digit - grouping (stage 5)

844 + 4 =122

844 o0 o o- @
———— [00]0 [© o °
? ? ? ? [-T-JK=] Q + 4 4 8
[rlleJSsie e & 5 oF

oa-u2|  geg 5o
T

@ Hundreds Tens.
!'/ = \‘! 00 0000
00 0000
S A a 00 0000

<4
0 [-I-] 0000

0000

: S‘ge‘oé’aom |
e

Hundreds

856 -4 =214

20




Divide 4-digits by 1-digit - grouping (stage 5)

00 @
@@)IC
©9

8532+ 2= 4,266

]

al2]66
28|52

21




Addition

Add two 1-digt numbers to 10 (stage 1)

Add 1 and 2-digit numbers to 20 (stage 1)

D ) e
°° 4 3
4+3=7 ,
s 1]
QlO

A'AA
Ll2]s[@]s|e[@[s]o ][]

....................

8+7=15

QO T T CITTT 1\,

Add three 1-digit numbers (stage 2)

Add 1 and 2-digit numbers to 100 (stage 2)

Y (&
029 "

7+6+3=16
Sees 08288 oo LLILII]]
hasallsess T e

[T

@ III‘. l. l. '. '. I\ ——t—t——1—
. 35 36 37 38 39 4O U1 42 43 44 45 46 47 48 49 50
° +2 +3

N 38 40 43
|

s [[[]1][ 38+5=43

22




Add two 2-digit numbers (stage 2)

Add with up to 3-digits (stage 3)

O S

38 | 23 [38+23=61J

Tens Ones 38
I [:::;” +23
1| e

S ?

° | 265 | 164 | - I

s ™

265 +164 =429 |

N Boes 265 Fndncs Tﬂ:’ one
Wl ] e |°°
(I ] 2 e

W< ot

Add with up to 4-digits (stage 4)

N E—
@ naire
o +2148
\ 2138 |W 3526
- 7 11
@ |

| 1378+2,148=3526 |

Thousands | Hundreds Ones Thousands | Hundred:

e S o

[ 104,328 l 61731 J
[ 104,328 |
?

23




24

Add with up to 3 decimal places (stage 5)

?

365 | 241 2
: : + 241
‘ [ 365 | 6.06
241 M i
| 365+241=6.06
o= or [ § = [ o]
000 o9 gg@ ooe 200 seo
00 - |© oo |oe0 o
) , ”
o o




Subtraction

Subtract two 1-digit numbers to 10 (stage 1)

Subtract 1 and 2-digit numbers to 20
(stage 1)

7
? @
[TTTTTT]
o[0[e[e[0] [T T} :
SeRE
7-3-4
?l \ First Then Naw
[TV e
o e00
? 3

:
T YN
[Tz @I: [*[@s s To]

]

e L w1

C==
E l
YYY)\

1YY
[EELEEEF L[ =@ [=]=[=]

!:1"1 —6=8
\ 0000

| 2 - eeeee .
YY) [eeieelel eeesie |4 ¢-

s [Oeee | [Eelele | 4| 2
CT 1 O

Subtract 1 and 2-digit numbers to 100 (stage 2)

Subtract with up to 3-digits (stage 3)

. +2 +30 5
@ 28 30 60 65

65
L
2 |28 | [656-28=37
= .. % 505 00000
41| [—_— —28 DS
““rl’t 3//:;;;, 37 //Sggg%

@ 435 | 435 |
| o3 | 2 | 273 -

435273 =262 |

Hundreds. Tens Ones ‘54135 Huﬂduds. _ Ton: s
- 262 g//
ikt IHT1Y

25




Subtract with up to 4-digits (stage 4)

Subtract with more than 4 digits (stage 5)

4357 -
2735 | ? | 4357
— 2735
o 4357 | 1622
:

~

\ | 4357 - 2,735=1622

Thousands | Hundreds Tens Ones Thousands | Hundreds Tens Ones
Qi mEE| (1 |0 | (eeggece 0000000
e EEE Loaw
-l%lll oo2
=ll z

294382
294,382
\ 182,501 I

| 294,382 -182,501=111,881 |

HTh TTh Th H 5
ez oZz|e poeocooo TR
@%@ <

Q—QQQQﬁ(/\J -1 8z 5 0 1
@@@ oeﬂc—)r 1 1 1/8 B 1

gﬁ

Subtract up to 3 decimal places (stage 5)

543 A5
) () — bus
o7 | @ 27
@ 543 | 2./3
A

?

| 543-27=273 |

I Ores . = Ones Tenths Hundredths
0000----/000 | 399 g00 060

©00
255
2}

26




Stage 7

Numbers lines are useful. . . |
Addition and Linking formal met.hods using place value. _ | -
: counters/ base 10 illustrating exchanges is
Subtraction Trueor False?a+b =d —¢ 84 100 121
very Userl. Hundreds Tens Ones
G200/ 00000
+ O 0000 00gtd
0000 - ?
Arrays of counters are useful. 00000
00000 [ T ]
Number lines are useful to illustrate links ::3:3 N
between multiplication and repeated oo O 180
Multiplication addition, and division and repeated —T—T7 T T
C subtraction. e —
and Division 0000000
/Nl 9002900
Linking formal methods to using place value | [ | .- ocee
counters/ base 10 blocks illustrating the LN reTee Y 3
result of increasing factors by 10.

27



Glossary Addition and Subtraction

Aggregation Combining two or more quantities to find a total.
Augmentation Increasing a quantity or measure by another quantity.
Difference The numerical difference between two numbers is found by comparing the
quantity in each group.
Exchange Change a number or expression for another of an equal value.
Minuend A quantity or number from which another is subtracted.
Partitioning Splitting a humber into its component parts.
Reduction Subtraction as take away.
Subitise Instantly recognise the number of objects in a small group without needing to
count.
Subtrahend A number to be subtracted from another.
Total The aggregate or the sum found by addition.
Multiplication and Division
Array An ordered collection of counters, cubes or other item in rows and columns.
Exchange Change a number or expression for another of an equal value.
Partitioning Splitting a number into its component parts.
Product The result of multiplying one humber by another.
Remainder | The amount left over after a division when the divisor is not a factor of the

dividend.

Scaling

Enlarging or reducing a number by a given amount, called the scale factor.
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